Basic Alignment Syntax
Some Assumptions
Input
Consists of lexical elements + their relationships and assigned roles
The standard OT view of semantic interpretation
Following from GB interpretation comes at the end of the syntactic process = LF
Syntax proceeds on the basis of input information and uses this to produce a structure
This structure is then interpreted by the semantic component and a semantic representation is formed
This is circular as we start off with a representation of semantic interpretation which is turned into a syntactic representation which is used to recover a representation of the semantic interpretation
To avoid the circularity we assume that the semantic interpretation comes off the input
Consequences
Syntax and semantics are not directly related – they are indirectly related via the input
thus there may be things in the input which have no syntactic consequence in one language but do in another – this seems to be so
The input is an LF – LF is not a constituent structure but a dependency structure
there are reasons to believe that LF ‘structures’ are of a different nature to syntactic structures
c-command relations are read off LF
binding, scope, etc.
these lead to assuming structures like: give [the money to Bill]
‘movement’ phenomena are read off ‘syntactic structure’
these lead to structures like: [give the money] to Bill
Gen
Simplified to deletion and ordering processes
only a finite number of these
movement is not a syntactic process
Movement as a distributional effect – general conditions place an elements in one position, specific conditions place some of these elements in another. If the specific condition out ranks the general one it will appear that certain items occupy a position different to where they would otherwise go – i.e. they move
Movement is a consequence of adopting a rigid grammar
Eval
Precedence and Subcedence relations need to involve a closeness condition:
if not, if both X and Y have to precede Z, how do we determine the order of X and Y
if preceding involves immediate precedence, then X and Y are in competition and hence one will win
Constraint are gradient
English object and adjunct behaviour
Some examples
det adj N	a P n > det P n
SVO	s P v, o F v	ranking?
SVSVO	s P v > o P v – because it is more important for subject of embedded clause to precede its verb than it is for the object of the matrix verb (the embedded verb) to follow it
Problems
if constraints are violated by both adjacency and order mismatches, how do we work out what the difference is:
x P y
1 zxy	
2 zyx	*
3 xzy	*
4 xyz	
5 yzx	**?
6 yxz	*
In this situation, if 1 or 4 are ruled out, which is the next best solution: 2, 3 or 6?
While 3 maintains xy order, the other two deviate from this, but have x adjacent to y
